12
13
14
15
16

17

18
19
20
21
22

23

24
25
26
27
28
29
30
31
32

Pa =1.28x 10° N/m?

Pa = 2.66x 10°N/m?

W=6.15

F=1.42x 10°N

P=7.77x 10°Pa

H = 0.39m
P = 2041x 10°N/m’

1.028x 10°Pa h = 0.157m
= 18kPa H = 8.36m

R Pa>Pg

P = P.exp[-Mgh/RT]
u=11.0m/s; G =266.7kg/m’s
Om = 2.28Kg/s

R =340mm

v = 2284m°h

T = 1463s

H¢ = 0.26JN

BNEGE:)
R Py
INEGED)
AR

F=4.02x 10°N

U, = 3.62m/s; R = 0.41m
F= 151N
v =55x 10°m?s

Y 0817 a=106
umax

P = 95kPa; P
Z=12.4m

P =3.00x 10°N/m?
o =339mh P, P,
g = 1.81m%h

H =43.8m

T = 2104s

He = 38.1J/N



33
34

35
36

37

38
39

40

41
42
43

© 00 N O 0o~ WD

e N e
A WN PR O

v =0.052m*s=186m’h

o1 = 9.7m*h; qup = 4.31m%h
Ov3= 5.39m%h ; g3 = 5.39m*h
Ove/0ve = 1.31; qva/0hc =1.05;

P, =5.35x 10°Pa
U= 13.0m's
v =7.9m3/h
Ovcoz =3248l/h

%=500I/s; 1 =3x 10'Pa
dy

F=3x10°N P = 150w

he = 60.3J/kg

Ty =18.84Pa py . = 4.55Pa- s
T, = 39.7Pa

He = 15+4.5% 10°qy?

He=456JN  P.=4.5KW

P=pw4%2; ®lpg = u/2g = 22.4I/N
He=346JN; n =64

qv = 0.035m°/s ; P, = 11.5KW

gv = 0.178m%min ; g’ = 0.222m%min
1S80-65-160 1S100-65-315

Ny =96.6

P =33.6KW ; T, = 101.0
qu = 87.5m/h ; W,

P=38.7w; P = 36.8w
d/dl =4.64; n/nl =0.359; N/Nl =100

@ = 222.7N/m’
@ /L = 1084Pa/m
vV = 2.42m°
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14
15
16

~
1

5.26x 10™m’/s ; g = 0.05m°/m’
15.3m2 ; n =2

>
1

Vo=15L
V =13L
q=584/m*; T =6.4min
T =166s ; 1 =124s
K =3.05x 10°m?/s
Ve =5.06x 10°m®;V = 0.25m"
n' =4.5rpm; L' /L=2/3

U = 7.86x 10”m/s: u’ = 0.07m/s

dp=88.8u m
T =8.43x 10°s:s=6.75% 10°m

{ Re’<48

No=20.925; x 1 =0.53

X »,=0.27;x 3=0.20

X 4=0;W =59.9kg/day

€ =0.42 ;¢ =0.71; Ad = 3.14x 10'N/m’

D = 2.77m

0:=0.22m ; 6. =0.1m
t. = 800
t. = 405
6 = 50mm

O’ A N = -19.7

Q/Q =1.64 A

a = 330W/m™>*

a = 252.5W/ m**

q = 3.69kw/m’

/02 =1

w = 3.72x 10°kg/s ; w = 7.51x 10°kg/s
T, = 312

T. = 746K

T = 3.3hr

€.=0.48 ; € s = 0.40



17

18 0.3 K = 49.0W/m’. ; K= 82.1W/m’.

19 w = 3.47x 10°kg/m- s ; t. = 38.7

20 & = 82mm

21 a; =1.29x 10°W/m’. ; as = 3.05x 10°W/m’ ; R = 7.58*10-5m"
22 0 = 10mm ; Qux = 11.3KW

23 R = 6.3x 10°m* /W

24 n =31 ; L =1.65m

25 L = 9.53m

26
27
28
29
30
31
32

Qn = 4.0kg/s ; A = 7.14n°
Oz = 10.9kg/s ; n =36 ; L = 2.06m ; gm = 2.24kg/s
gn = 0.048kg/s

t.=76.5 ; t.=17.9

t.=98.2 ; T =112.1
gm = 1.24kg/s

T.,=178.7 ; t2=61.3

33 T =64.6 ; tm=123.1 ; t» = 56.9
34 t = 119

35 1 = 5.58hr

36 At = 40.3 ; At =43.9

37 a = 781W/m’*

38 L=1.08m; t’ =73.2

39 Ne=2; N=114 ;L =1.2L =3.0m; D = 460mm

o O WODN P

W = 1500kg/h ; w: = 12.8 ; w. = 18.8

At =12.0
A = 64.7m" ; W/D = 0.839
W = 0.417kg/s ; K = 1.88x 10°W/m’. ;W o= 2.4

t. = 108.6 ; t.=90.9 ; t; =66
A = A, = 9.55m°

N



